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QUESTION 1

After loading data to Einstein Discovery and creating a story, the client asks the Einstein Consultant to explain the
"Unexplained Bar" in the "Why it Happened" chart. 

Which explanation is correct? 

A. It should always be 0 or the model should not be used. 

B. It shows the difference between the predicted outcome and the observed outcome. 

C. It displays the difference between the analyzed data and the data not reviewed. 

D. It only appears for outcomes that do not have an explanation. 

Correct Answer: B 

 

QUESTION 2

Upper and lower limits on rows in discovery. 

A. 1000 row minimum, 15,000,000 max 

B. 3000 row minimum, 20,000,000 max 

C. 00 row minimum, 20,000,000 max 

D. 500 row minimum, 25,000,000 max 

Correct Answer: C 

 

QUESTION 3

Universal Containers reports that any selection in the List widget is not affecting the Pie chart in one of their Einstein
Analytics dashboards. The step options associated with the List widget and Pie chart are 

shown in the graphic. 
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Which two changes can an Einstein Consultant implement to solve this issue, given that the steps are using the same
dataset? Choose 2 answers 

A. Use selection binding in the filters section of the step "Step_pie_1." 

B. Enable the option "Apply filters from faceting" in the step "Region_1." 

C. Enable the option "Apply filters from faceting" in the step "Step_pie_1." 

D. Use selection binding in the filters section of the step "Region_1." 

Correct Answer: AC 

 

 

QUESTION 4

What is a keyword in SAQL? And what case must it be in? 

A. A keyword is basically just a function in SAQL, like group, foreach, etc. And it has to be lowercase. 

Correct Answer: A 

 

 

QUESTION 5

Before using bindings, you can try using facets to specify interactions between widgets. 

A. False 

B. True 

Correct Answer: B 

ANC-101 PDF Dumps ANC-101 Practice Test ANC-101 Study Guide

Powered by TCPDF (www.tcpdf.org)

ANC-101 PDF Dumps | ANC-101 Practice Test | ANC-101 Study Guide                                4 / 4

https://www.pass4itsure.com/anc-101.html
https://www.pass4itsure.com/anc-101.html
https://www.pass4itsure.com/anc-101.html
http://www.tcpdf.org
https://www.pass4itsure.com/anc-101.html
https://www.pass4itsure.com/anc-101.html
https://www.pass4itsure.com/anc-101.html

